Math 1552, Integral Calculus
Review for Test 2
Sections 7.2, 8.2-8.5, 4.5

1. Content Recap 0

(a) To apply L’Hopital’s rule, the limit must have the indeterminate form O ___ or
o0
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(b) A separable differential equation has the general form:
S = peag

To solve this equation, use the following steps:

SePa:cdc the vagdables cund wheg e

57{3@ dy =Jp0ordy

(c) Evaluate an integral using integration by parts if: O-E
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(d) To evaluate integrals with powers or products of trig functions, use the following trig

identities to try to obtain a u-substitution:
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Write out the trig substitution you would use for each form listed above.
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(f) To use the method of partial fractions, we must first factor the denominator completely

into L’(\EO& or irmé"-w*]"‘e %m&ui‘(\*llms

In the partial fraction decomposition, if the term in the denominator is raised to the kth

power, then we have _____ '_ﬂ_ _____ partial fractions.



2. Evaluate each integral below using any of the methods we have learned.
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3. Find the general solution to the equation:

y2+1

(ynz)y =

Y%\gafg—@%@ =) -LJ«(& D) = S ldan) +

e (G = Qe | o] +aC

1 ¥2C 2l
N St et k=€

4. A radioactive substance loses 20% of its mass each year. Find the half-life (i.e., the

time it requires to have half of tlm substance remammg) of the substance.
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5. Evaluate the following limits:
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